
92/03/22 »ñ�³�.ó.� 2003
×. : �âÞ, NÞ05(1) u��Õ�- Y O M ` D ^
Ï�¿�|à|ì2P, ¸à2PG��

ÞO	�`	��J, ÃÍî, |ìÝ2P.0ÎÞNOÝë`×^	W

×OÝ��, Ah×¼, æ¼Ýë` (Mar
h) µ�	WÏ×`, °`�	W

Þ`, Í¸Jµhv., �æbÝ×`, Þ`µ�	Wè×, èÞ`. h²

O	ô��|;�, .ÕÝ^�u3ë`�G, JO	63×, »A : 2-2000-1-1 Ý Y = 1999, M = 11 , D = 1, �2- 1999-12-31 Ý Y = 1999, M= 10, D = 31.( Y + [ Y4 ℄� [ Y100 ℄ + [ Y400 ℄ + [ 2.6� M� 0.2 ℄ + D ) mod 7
2P�Ý [ x ℄ 
 x ÝJóI	, � x mod y Î¼ x t| y Ýõó, 	õó


 0 `, ��Ï�F, õó
 1 `, J
Ï�×, Í¸µhv., �¿àh2

P�Õ2- 2001 OÞ`ÝÏ×ÍÏ�FÕè`Ýt¡×ÍÏ�FÝÀF

ó ? (Fó�âÏ×F�t¡×F)(2) *b,ù 3 ¸, N¸,ùt9�µ 4 ß, ub 6 ßk,ª, JH�,ÄÝ]

°�b¿Ë ?(3) �' A , B 
}ñ¯�, u P(A [ B) = 45 , P(A jB) = 35, J P(B) 
¢ ?(4) ã 0, 1, 2, � � �, 9 èÍóC��ó 5 Í (óC�¥�), JÍóCõ
�óÝ

�µ�b¿Ë ?(5) u f(x) = log ( xlogx2 )� log x4 + 3, M � m 5½
 f(x) 3 x 2 [ 5; 100 ℄ �

 Ýt�Â�t�Â, J M + m 
¢ ?
1 �.µ�á.�� 1



92/03/22 »ñ�³�.ó.� 2003(6) �®¸ÿ|ì��P�yëÝ x 
¢ ?����������� 1 log9 4 log4 9x log3 2 log2 3x2 log3 4 log4 3
����������� = 0

(7) u a = log2 �q11 + 2p30 +q11� 2p30 � , b = log4 25 , 
 = log2 5 , Jëó

Ý��5�
¢ ?(8) ub�â 100 ÍJóÝó�, ó�ÝóÂG��
 -2, 0, 3, �'ó�ÝÀ

óÂõ
 a, vó�Ý&óÝ�EÂõ
 b. �®ó��b9KóC
ë ?

2 �.µ�á.�� 2



92/03/22 »ñ�³�.ó.� 2003
Þ. : �"Þ(1) [è5℄ 3×i¦�, �¼ OAB î, =� AB = 1113 2¦, i PCD î, =�CD = 1046 2¦, u� � = 6 ODP, v 6 AOB = 6 CPD, J sin 2� 
¢ ?

A BC DOP�
(2) [è5℄ �á 
os 2� = 35 , J�Õ sin4 � + sin6 � + 
os4 � + 
os6 � �Â(3) [è5℄ u n 
ÑJó, v�á��Xbó x1; x2; � � � ; xn; y1; y2; � � � ; yn /�

y�y 0, �J�ì���P, !`1��rWñÝ��f�
¢( x21 + x22 + � � �+ x2n ) ( y21 + y22 + � � �+ y2n ) � ( x1 y1 + x2 y2 + � � �+ xn yn )2(4) [è5℄ ×��bu�ÍR¦� 7 Íç¦, *��ã���ã 3 ¦, Í�
2 ÍR¦C×Íç¦Ý^£
 722 , �®��R¦ÝÍó
¢ ?(5) [èÞ5℄ u f(x) = x3 + ax2 + b 
×ëgÝ94P, �á f(x) b×Jóq


 n, �J�|ìB�ÝÑ@Pa. D3b§àJó�E (a; b), ¸ÿ f(x) Ý¨²ËÍq
b§ób. D3b§àJó�E (a; b), ¸ÿ f(x) ª?©b×Í@óq (Ç¨²Ë

Í
�óq)

3 �.µ�á.�� 3


